No.1

fSwv o - J4—)LFTEE - iRE - Sofxk BRI FET)
bty HE a—F |1 WA FIEEE/NMNEEELBRERRASBEEEFES a— | 21110102 | FHHE BH fix
A A (—ED) B EELHERIGS B4 A R R—Y b N ERE L RIS a— R 111020 FoER AT Heh @2
H A A VE; A | E BEpiE 4, B Eil E BibE 4, B B E BibiE 4, B E E b4 il B
07/04| BF 5 & R 051 |RE Z& CoolZe 13.95 [2[LA& BA G|7HAFxvX 444 |3 iE B Bloom 14.47 || 4| AR 5 |RON. jp 17,62
100m BE BE BE BE
5& E AR E R 75.00 (6|%&8 & Gb|tRSa=7| 1502 |7|F &M J74 M| 15.10
_ _ _ BE BE _ BE _
07/04| BF 6 & R +0.0[[T[&IT B E=ETN 13.13 [[2[=WL =Bk 6|Z=HERISC 13.29 || 3 /MBS RRER N Vb T3.45 | 4|72 HE 6|ERCa—7 | 13 47
100m BE BE BE BE
5|FE Lo 8 JIWRC 3.61 |6|F@E B 6|7hxvR 3.78 |7|&2% @@ AR EZR 13.84 | 8|®# %& 6|Bloom 13.87
_ _ _ BE BE _ BE _ BE
07/04|B¥ 5 & ARG TR ERE BIREL 3:07.60 || 2|SHE ESF 5 [SPC RC 3.12.85 || 3|51 HIK NERC 3.16.23 || 4| F@& & S|Wmo>J | 3.17 38
1000m || BE BE BE BE
AECEEES 74 MR | 3:17.48 |6 =&®@ S5|IIBRC 317.57 |7|2@ XK J74 MR | 3:17.76 | 8|5 & 5 |%JIWRC 3:18.16
_ _ BE _ BE BE _ BE
07/04|BF 6 & R TEE B Wmo 50 | 3.03.63 | 2|3 T+ 6]SSAC 30478 |31 B K= JIBRC 3:05.50 |[4|/NF8 BEJr 6 | RamER 3:06. 36
1000m BE BE BE BE
HEEIEES KJM. RC | 3:06.44 |[6|lEAANEE 6|EEEL 3:06.62 | 7|FE = JIEBRC 3:08.03 |[8|5F Wk 6|77 A NI | 3.08 72
_ I BE BE _ BE _ BE
07/04|F7oc o FA| R TIEA A tRECa—7 | 13.40 (2|0 WZE 6|&H551S0 13.52 || 3|2k 3= tTES1=7 | 1318 |47 K& 6|tEo2—7| 14.19
80mH [0. 7m/7. Om] BE 0.1 BE -0.1 BE -0.1 BE -0. 1
5=@m &= AR E 2R 14.82 |6[@a x4 6|LbClE& 12.90 || 7L &KX cheese 15.80 [|8[IE & 5|ZHERISC 16. 07
_ BE +0. 1 BE +0. 1 _ BE -0. 1 _ BE -0. 1
07/04|F7oc o FA| R TIEA A tRECa—7 | Im2%b (2|0 WZE  6|&B851S0 25 |3 |k 5% TES1=7 | 1n20 |[3|F1 K& 6|tES1=7| 1m0
EEB =E BE BE BE
5=@m &= AR E R 20 || 6 |@3F =M 6| EmERJ r Tmis 7B & & B ERISC 10 || 8[ILE #&A 6 |cheese mi0
BE BE BE BE
AEEES tl%ecli& mio
=F
07/04| B F R T[EARA &k TES1=7 | 208& |20 BWZE 6|ZHIRISC 200/ || 3|2k 5% TECa=7 | 1906& |4|F)1 K& G6|ERC1—7 | 1836/
aVUNA U RA BE BE BE BE
5=@ &= FREER | 17285 | 6|BE = 6|Loolze 1508 | 7|0 A cheese 1429/ ([8[NE  # 5 |&BEE8ISC 1308
BE BE BE BE
07/08[B7 oo ve | RE TERE em TECa=7 | 4m3 |2|EH mA 6|Lo.lEe Im2d || 3 [ILAEZIr & B ER1S0 m2d |[4[FF KXW 6|&BERISC i3
SENEBE BE 0.2 BE +0.7 BE -0.4 BE -0.4
AEEED R 383 | 6|FIB E= G6|MEAES~=7 | Imé0 |7|Em =& & EERIS0 il || 8|%F 3%E b5 |mESi=7 | Imi3
BE +0.9 BE +1.5 BE +0. 9 BE +0. 1
0708 B oo ve | RE TIRBE A REF VX oz (2|8 HmE 6|LoolEe 20m6 || 3 |LAEZIT & B ER1S0 0m01 || 4| K& IR 6 | BEmED 39m89
SRy hR— L] BE BE BE BE
AEZIER MAES1=7 | 30m66 |6|7== WA 6|Eifer 30m29 || 7[BK B SEEN 3Bmd9 || 8|1LB BA 6|LocFE 38m62
BE BE BE BE
07/04| BF R TEE 2R TES1=7 | 1806m |2|ILAE=ZIr 6|Z=HERISC 18345 || 3[EH B A LoclEe T607/m || 4|+ k8 OG|MACa—7 | 16844
S ) BE BE BE BE
5[X%E %o TBEmED | 16605 [6|5nA E 6|LoCEE 620& |7 9B X RKEX VX | 1611m |8|FE A= 6|mmoi=7 | 1600&
BE BE BE BE
07/08| X F 5 & R 05| 1|BF BE N b = 1460 |2 Iu0 #&5% 5 |RUN Jp 2,82 |3 |BAEET TECa—7 | 14.96 |4|t5@ ®R  5|RUN Jp 15.06
100m BE BE BE BE
A ETS MES2=7 | 15.15 |6|=F 1= 5|/\&ERC 5.17 |7|=£ @M EFEDFY 15.22 |8[B& *& GbL|A&Da=—7| 1.8
BE BE BE BE
07/08| X F 6 & R 01| 1|EE & TRCa=7 | 13.52 |2|RI BE 6|#=& AC | 13711 |3|7=r 97777 6|ILRC 402 |[4|6F EH 6|REFR 711
100m || BE BE BE BE
5[fa8 Lt Bloom 1430 |[6[/@ fE 6 |HERER 14.36 || 7|LE B= & EER1S0 1447 |[8|REEER 6|7HFvR 14.48
BE BE BE BE



User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示


No.2

fSw9 - J4—)LFEH - RB5 - itixR B ET)
bty HE a—F |1 WA FIEEE/NMNEEELBRERRASBEEEFES a— | 21110102 | FHHE BH fix
A A (—ED) B EELHERIGS B4 A R R—Y b N ERE L RIS a— R 111020 FoER AT Heh @2
H A A VE; A | E B4 B Eil E B4 B B E B4 B E E B4 il B
07/04| ZF 5 & AR5 T|EE BE b |RREL 3.13.46 |2 |[/BIL @& b |n b — 3.16.84 || 3|RF 2HE O|RBREL 3.23.52 |4|F& B G5|rouE - 304,12
1000m BE BE BE BE
S|EBH#G#H L|IIBRC 30435 6|28 BZE b |@BEEmJr | 3.27.65 | 7|Bm = S5|GEEL 3731.26 |8[RE #Z= 5|RMMLEE | 3:31.71
_ _ BE _ BE _ BE BE
07/04|&ZF6 & EYE) 1|=8 #i&F 6[&FBERTSC 3:10.38 [[2|&k #HmEB 6[n Vb= 3:10.56 [[3|HO f&x 6|nuE -Z 3:10.98 [[4|3F #&x 6|Emoa=7 | 3:11.09
1000m BE BE BE BE
5| RERAE 6 [ZHERTSC 3:15.24 |6 (EAO D= 6 |EvoT. C 3:15.52 [|[7|Ex == 6|Em =7 3:18.94 ||8|/NGALE 6 |f2lRkEL 3:21.15
_ _ BE _ BE _ BE _ BE
070457 oA R TIBE F& 6|BmMoa=7 | 1328 |2|ME @& 6|LESa—7 | 1374 |3|@mmE B 6|&Ha51se 13.98 |4|BE =/ 6|tRCa=7 | 1434
80mH[0. 7m/7. Om] BE +0. 4 BE +0.4 BE +0.4 BE -1.0
5 IhRINEF 6 |ZBERTSC 14.54 6 [{RF=XFITE 6|EMYa=7 15. 04 T|EX i 6|FBERTSC 15.05 8|FM k#t 5|FEBIRTSC 15.42
_ BE +0. 4 _ BE -1.0 - BE +0. 4 BE +0. 4
07/08|&KFacrroFA| RIE T[NFEAF 6|ZHERISC M0 | 2| BEE =5 6| tRo1=7 | nb |3|AL BZE 6|=HERISC 25 || 3|@E @& 6|EES1—7| 1nb
EEB || =E BE BE BE
AEERE N EEEIRS 25 | 6|AE =@ 6|Z=H58ISC 5 17BE F& 6l@moa=7| 1m0 8|88 & G|=@BAC Tm20
_ _ BE BE _ BE _ BE
07/08| & F R TIBE F&K 6|BmMoa=7 | 10014 |2|ME @& 6|LESa—7 | 10604 |3|@mmE @i 6| HE5ise 028 |4|%BR =9 6|tRo1-—7 | 186/m
IVRL VKA BE BE BE BE
5 [/NAINZF 6| & BERISC 78R (6|AL &% 6|&B5ISC 5058 | 7|FH=siiE  6|Emoa=7 | 15/4& |8|AZ &/m 6|2H|AC 5558
_ BE BE _ BE BE
07/04[x7avr1oFB| REG TIEE B 6| LtECa—7 | 4m3d |(2|=m B 6|5 Ini6 |3 |/RE FE 6 |[FEEmR a4 | 4|BRFOBED 6|7 XLT4 | amb2
FENE Bk BE +0. 6 BE 0.0 BE +1. 1 BE +0. 1
G[flEA BB 6|ZHIRISC M6l |6 |BE B2 6|EARELE=| a8 || 7|%k  FAZ=  6|ZHERISC b7 |8 [ILUWE #ESE 6 |&EBERISC 3mb1
_ BE +1.0 _ _ BE +0.8 BE 0.0 BE 0.0
07/0d|z7=o o r5| RE T[lER @& 6 |&HEhIsC 3mI6 | 2|2 JE_ 6|RUN. Jp om6d || 3 |BE 1B G| LES =7 | 3mi6 | 4| MB W G|MASa—7 | 32m00
SRy hR— L] BE BE BE BE
5B B& 6|7 L7120 | 30m9 |6|2m Z= 6|EAREERZ=| 30m0 ||7|E B& b|hTo_=F| 2/m6 |[8|%  FiZ=E 6|&EHBFISC 2Tm27
BE BE BE BE
07/08| & F R TIEZ B 6|ERCa—7 | 159& |28k =& 6|&Ha5S0 T611m 3| BE B2 6|RARLE=E| 14645 |4|@E BR 6|7AL 47 | 181K
IVRA VKB BE BE BE BE
5|[#k #Z& 6|ZHZRISC 1387= [|6[& T  6|RUN. jp 13628 | 7|BH0OBD 6|FALT<5 | 1336A |8|=m ZH 6 |5EER 1326
BE BE BE BE
07/04[B& R iz BE 6 RENER 6 Fick 6 HIE R 6
4 x 100mR 1)@ #Fifg 6|LE>a1=7 52.20 2|FE BEC 6| THh¥xvX 54.54 3| EM Ei 6 [Bloom 55.63 41 TH HE 5 |4@J1IWRC 56.10
BEZ B 6 NGEEEE 6 B BB 6 BA XK 6
| |Bx ik 6 EHE EL 6 Bl BE 6 P HE 6
BA B 5 A Ba 6 EE B% 6 W EBE 6
5|&% HE 6N vt -= 56.19 6|48 FK 6[LSCIEE 56.72 1E” &= 6(MmES21=7 57.78 8|/ NFg HEe 6 |EERIE L= 58.08
W BE 5 Bl By 6 &% B 6 =B HN 5
INBKRER 6 EREBEE 6 KFEEESE 6 W =R 6



User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示

User
ハイライト表示


No.3

bSvD - J4—JLEFER - R - SLERR B FET)
ety HE =i [ Wies  BIIESENEER ERHRAASBERTES Sk [2110102] s s #x
R (—Bh) BER L HHEBE srs  BSAR—Y AL N EREE S ok 11020 | msiite B @E
air] e ||| maE ] e R R R wE | A




